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T pi 3 7 5 5 7
Qunudbiup 351 070 200
Iutipgtinhl dwnwympynibbtp 30 000 000

65310000} tblpnpuljuanipyut pugjunid uu puid 1 8 000 000 8 000 000
65210000 qugh pupfunid UuU Tpud 1| 22000 000 22 000 000
Yminiwy dwpwyni@ynibbkp 11 155 000
65111000| udtijnt 9pp puwzjumu uUu “pud 1 10 999 000 10 999 000
90921300| writinGbph nbid wuypwph SwewnyeiMUlp |5y, pud 1 156 000 156 000
Ywuh dwnuwynipynibibp 1171 000
64211000 hwapuyht hlinwjunuught Swnuympmuulp uu rpud 1 1171 000 1171 000
Jmpywljuwi dwruympymuilin 771 700
79530000 qpuynp pwpguwbnpyui dwnuynipymitlin uu pud 220 3500 771 700
<wiwljupgywhl Swruympniuuip 95 000
opugnuyht weuwhnddw b
72200000 | junphppuinuljwd dwnuynipymuulip /<07 uu purd 1 95 000 95 000
U punmuquh dwuiughnulmt qupgugiui dwpwympniuulip 200 000
29631200 wzjuunnwhgtinh Yipwgunpaundwi
B ownwympmuulip [S)8} “pud 2 100 000 200 000
Shinlijunjuijui yunmnipymutip 500 000
79341100| qnjuiqruyht Swpwynipymuulip Uy Tpud 1 359 600 359 600
92410000{«Qnpop» wiuwgph pudwunprugpnigmi uu Fpud 1 90 000 90 000
«Twpquipfuwnh» plinEh
92410000 |pwdwinprugnmpniu Uu pund 1 40 000 40 000
92410000« Yppniemiu» phpph pudwinppugnmp)mi uu pwd 1 10 400 10 400
Swowpuiughh L hwbpwyht ubingh juqiwlbpydwb dwnwynipynihibp 289 282 500
SSSOOOOOTEmzmnwhuJJhU I hwbpuyhb uliinh
Luqiwlipuydwh dwnuynipynibbtp {PU "rpud 1{ 289282 500 289282 500
Cunhwinip pinyph wy) dwowynipynibibbkp ) 4 500 000
79131200| hwyjwnwpdwgpiut Jurugnipnivuln uUu “rpud | 30000 30 000
79000000] Uy dwnuymppymutlip Q< puid 1 4 470 000 4 470 000
) dwuliwghnwlwl dwnuympynibtiph
abnpphpnud 2 000 000
unghwwywh beliph wipnhwljwiwgduh
72212300 |ownuynipjniualip uu Tpud 1 980 000 980 000
ququugundwi hunfwljupgh nbjubihyuywi
76130000|uupuuupydwl dwnpwynipymubp uu Trpund 1 272 000 272 000
olinmguw Juywadtinh Jipwinpngndut L
nhjubhyulud vauumpliwi
45251170{wzuwunwbpulip Uu rpud 1 288 000 288 000




nhiuthywlwd winfnwigmepyut

wpnwnpuljwy Yunwiquidnp opybinutinh

45251170|thnpdwplunie)wl lgpuljwgnie)niy uu “rpud 1 300 000 300 000
olinmguwh Juywhliph ofuwrnwn ninhuliph
45251170{unmgmu (6108 “rpud 1 160 000 160 000
Ghupkpp U uenyghkph phpwghy finpngnud b ywhwwinud 7 000 000
45461100|pupwghl unpnguwi wpuwinwiplilin QX Fpud 1 6 330 000 6 300 000
Gwpwgowiujuwhuwjunhy hwunwenpinh
71241200|juqunid uu Apund 1 450 000 480 000
twhuugdwlwhiwhwuyhl thwunwenpbph
punupuhbuljub wupg thnpawphbnipyub o
. 50531140 wnuynipnil UuU “pud 1 60 000 60 000
71241700 | ntijubthjuljwd hufnnmpymi QX pud 1 120 000 120 000
* 981 11140[hlinhtiwluwyh@ hujnnnipyma uu “pud 1 40 000 40 000
Qpuubiiywluyhb niptp 250 000
22811110| wzuunnurduipdh hwpuedw ghpp Uu “rpud 3 2 400 7 200
22811110{wwhbunh hupJuedwh gpplip U pud 10 600 6 000
22811110|uuhtiunh hupyundwy gpplip Uu “pund 4 1 000 4 000
22851300| pnplinh wwhngulip (918 Fpud 10 900 9 000
30192114| pwhwp, yrnudwh, pupdhih uUu huin 2 250 500
30192121 qunhljun]np gphy Ul hun 121 100 12 100
30192128| glijuyht gphs [9)185 hurin 20 150 3000
30192137 dwwnhwnubip U rpud 20 100 2 000
30192160| pnnphjutitip UuU “pud 22 250 5500
unuh@d, pnph, unjwpwpenpeh b tiipunhih
24911200|/100g/ Uy huin 10 200 2 000
30192720| qdwbiohs /fwplylipfitip / Ul | “pud 25 200 5000
30192750| pindwunbpllip /12 hwwnwbing/ Ul | “puy 3 500 1 500
30197112| Yuphsh Winwnuuph fuglip, theht Uu wnith 12 170 2 040
30197231 penpuwwiul, wnhikpuyhl punube [6)188 huwn 406 10 4060
30197232 prpwwuiiuly, wpuquljun, pRRjw uu hurn 40 160 6 400
30197233| pnpuwwwawl], pnpel, phny U hunn 40 160 6 400
30197631 prunp wwhsuliph hunfwp )10 “pud 60 2500 150 000
30199231 Gurdwlih opuwip [0)185 hurtn 50 40 2 000
30199232| opup, Ud, A4 pnplwnh hunfwp uUu hun 10 60 600
30199420/ pnine @ymuuliph hundwp unu. 9188 wnith 20 250 5 000
30199430 pmine uznuduliph, pguljulinny Ul winith 10 350 3500
39263410| wdpuly, dhwnwnw, thopp /100 hww/ Uu nmith 10 180 1 800
39263420| widpuly, Whnwnyu, dho /100 hww/ Uu wnith - 400 1 600
39263510| ulindwl, thnpp Uu huwin 80 25 2 000
39263520| ulinuwly, dhoht Uu huwwn 80 40 3200
39263530| ulinduily, U Uu hwn 60 60 3 600
<wmgnuutn b hwdwggqliun 2 000 000
18331200| Ytiptupuighlfulip UU huwin 9 7 000 63 000
18220000|wlnwbigni pyul whabhwlwugdpy uu huiwn 9 18 000 162 000
18411840 pdouljuu punfpulyu nutnynid Qx| (puljuqul 25 9 000 225 000
18411300 dwpquijub hwgniumn Qx hurn 35 44 285 1 550 000
Spwiuwynpmuyhb ynipkp 897 000
09132200| pliaghy, oligniyjup Uu {htnp 2300 390 897 000
Unnneuyjuhwlwih b jupnpuwnnp bynipbp 250 000
wipywl §updwl juhdw uwpp (Tonomerp
33121180|mex. co crerockonom A&D UA-200) uu pud 1 5 700 5700
33141110| Jhpuljurugtip /7x14/ UuU Tpud 58 132 7 662
33141110| Jhpuljurglip /5x10/ Ul | %pud 30 65 5200
331411 10| pundpwly /100g/ UuU Fpud 57 236 13 452
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33141111 |mnacr (CanaaBuk) 1.8cm x 7,0cm (1,.9cm x Uy Fpuid 100 48 4 800
Gugsmb uwylinwuhulip /Jlefikonaactsipb

33141112|3cm x 500cM TKaH./ uu pond 50 280 14 000

33141142| alipwplhsubip Sig wutinny uu Fpud 49 14 686
Adrujub dtinlinglitip /TlepyaTku

33141156|cMoTpoBbie saTekc X 100 M/ Uu puwid 3 6 500 19 500

33161120{ujuunli] thuynli N100 uu huwin 2 700 1 400

33141131]dgnun wpymup Juiuglighng pinhull Uu hunn 2 470 940

_ Jhunwlhutip /Komnausut Kanbuu# /13

33611341 |Ttab. Ne 100/ uu Fpud 24 3 400 81 600
hujublijuhg (wuwmhulivgnhl) b
wjunwhw@hy thengllin /nepekuch

33621641|Bogopoaa 3% 150mn ¢ Nel/ UuU Fpuid 100 140 14 000
huljm@tijuhy (wunhubivuhy) b
wjunwhwthy dhengulip /CrnupT

33621641 |meanumuckui 95%5000ma da Nel/ Uu “rpud 1 5250 5250
wijunwhwhy vhengulip /Jlnu

33621641 |Buunesckoro Ty6a 251/ uu pud 4 338 1352
wy| plingnpuyp /wdn@yulh (monye 10 %

33698400|504y uu pud 50 138 6 900
nhyndtbwy d11ax18, m01ab0s, m02aa15,
s01bc03 /Ouknoderak - Actepua Tab. 50mr x

33631310/20/ uUu “rpund 5 600 3000
Ihnptuwy] di1axT8, m0Tab05, m02aa1s,
s01bc03 /Auknodenak - Actepus 8/m 75mr -

33631310|3mn x 5/ U Tpud 10 185 1 850
gunjuqplnn dhengulin /wulndliu huwp

33661200|Nel0/ Uy “purd 20 159 3180
gunjwqnlnn Uhenglin /ghunpundnt hup

33661200|Nel0/ uu pud 20 60 1200
wupughnuning n02be0 1 /mapaueTamos

33671119/0.5r 16 Nel0/ Ul Tpud 30 60 1800
quijuqplnn dhenglilip /wliught hwp

33661200|500dg N10/ Ul | pud 20 84 1 680
guijwqplnn thengulin /wiwight upfuly

33661200|50 214g N10/ uu pud 2 405 810
quujuiqplnn Thongulin /Ho-mna 40Mr T6

33661200|Ne100/ uu Npud 1 2 090 2 090
gunjugplinn Yhengulip /Keronan B/m /B

33661200|100mr- 2m x 10/ uu “rpud 2 2 000 4 000
quijuigplnn thengulip Afhupnuwi puntly

33661200|50¢/ UuU Trpud 10 2280 22 800
nlinuidhgngulip’ 2ugninhulinh
opumnpnijinpy hhjutnnipymuuliph il

33673000|/bpoMrexcuH-8 ap Ne25/ UuU Fpuid 5 707 3535
nlnwuhengulin’ 2usmnhulinh
opupnifnnhy hhywanmpniuGtiph nod

33673000|/Jexcamerazon 4mMr/mMa 1My aMn No25/ uu Tpurd 1 2178 2178
£npnughpwdhb /Cynpactyy Tab. 25Mr x

33691236|20/ - Uy “pud 2 1230 2 460
Utunnlynupuithny AO3FAOT /gtinniljuy

33612400|10mMr N30/ Ul “rpud 2 955 1910

33613300|nuytipurihn a07da03/2mMr N20/ uu Tpud S 91 455
nh$phuhhnpudht d04aa32, d04aa32

33675100|/ghulinpng1%-1,0U] N10/ Uu Tpud 2 225 450
huljw@bjuhs (wanhulivgnhl) b
wjunwhuwihy Whengulip /plinwnhnt unl

33631610|75ma o Nel ./ )08 Trpund 10 954 9540
nlinuthgngitip’ 2Gzmnhtuliph
opumpniljnhy hhJwunmpmuatph gl
/Haprmzun kama Ha3 0.1% Smu patkan

33673000|mractuk Nel/ U TFpuid 10 186 1 860




hurljw@bjuhy (winhubiuhl) b
wjunuwhwithy vhengubip /punip Lunuliljng

33621641|40¢/ UU Npud 5 272 1 360
wy| ninnpuyp /gututhnyp (Mprcbinka
33698400| gerckas 100r) UU Tpud 5 280 1 400
<wwnnil byyumnwljuyhb wy) bynpbp 998 000
31500000| (tinjudug Uu pud 100 500 50 000
31500000| (big (nuurnn Uu Tpund 60 3300 198 000
31531210| fayupuljuh judug [S)188 huin 152 100 15200
131531220 bjtljinpuljuw juduy inuwnn U hurn 40 520 20 800
33761000[ qniquipuih pnine mninum| Uu hun 100 130 13 000
3922433 1| gy ujuunduwuwhg [9)185 huiin ) 900 4500
39291000| 1Jwgph Wnmpbp thnzh wfunndww/ [§)18} Tpud 54 900 48 600
39513200| ulinuh wudlrnghfulip Uu hurn 50 320 16 000
39831210 uyquiuph (Jugdwi nlivnipgiunubin Uu pud 20 1100 22 000
wjunwhwnn htinnil]” vwihwugnygh
39831247 [hwdwp (Junuwynip) U 1hinp 15 1200 18 000
39831240 dwppny uymplip /duydty/ Uu pud 130 100 13 000
39831240| dwppnn Wyniplip fuupnwydmb thnph/ Uy rpwd 53 350 18 550
39831280| wwuiljh wpplijnt dheng )10 1htnp 10 400 4 000
18141100| wpjuunwitpuyhu dlinungulip uUu Fpud 50 250 12 500
gnquphwluntijny, wnpp hunjuplijn:
39839100/ hudwip, dnnny U huwn 24 3 900 93 600
44315100| trwlguiwy wupuqutlip Uu rpud 4 3450 13 800
dwmju wnud b onlipny, Gwfuwnbufuwo
44322220|utippht Untunwddwt hadwp 2,502 UuU dhwnp 50 260 13 000
44411110| oph onpuly, thurjury uu hurin 20 2200 44 000
44411120 oph onpuily, 2 thuljurim] Uu huwn 20 4 800 96 000
31221200 ({Jwpruljulip \ U hwn 30 650 19 500
31221200| Jupngatiph inwuhfulip UuU hurin 30 650 19 500
uwyhwagniygh Qumurnnbinbp, dwdltip,
44411700{gmqupwbwlntph dwubp Uy Tpund 5 2 400 12 000
31651400 dlijniuh; duwuqun]itubip UuU “Fpud 30 180 5 400
42131100 thwljuuulp” pun gnpowenypulinh UU pud 15 550 8250
42131100 thwljwuulip’ puin gnpowenypulinh uUu Fpud 15 650 9 750
44112760|a4mu dhnwnuljul junnnjurl Uy Tpurd 20 1 400 28 000
44521110] nowt thulwulbiph Thenil Uu “purd 40 600 24 000
44521110] gow thuwitliph Uhpml] puwuujhny UuU “pud 20 2 400 48 000
39224331 {nnyy| pudhsny UuU “pud 10 7700 77 000
39221430] JunquGwl-uyniuq wuymlih Jwpplijm (688 pud 5 6410 32 050
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ptiohl hunnljugywd/ Thenghitiph hwpyht hpwwbwgynn ginudbtiph nliwpnd

ﬁh?;:fu‘;lhg;{l’"m whurtinudp &2‘;‘:12:11:{ i pwhiwl Udhwynph ght gonpmiltig ekt
nuuwljupgduh wpgp) U (npund)
| 2 3 4 6 5 7
Qunudliip 154 589 500
Ghiiptiph b wnnyghtph phpwghl inpngnud b wwhwwinud 31369231
nuniwlui b hwbinhuniynmblitinh
dwuliwptiiptiph 6wlunbtph pupughl
45461100|anpngudwl wyjuwmnwipubin Q< Tpuud 1 10 940 542 10 940 542
71241700 |mbuuhfulwy huljngnpmu qx Apud 1 217 240 217 240
98111140(hbinhUwljuht hulngnipniu Uy pud 1 65 170 65 170
uwwhwnwidw b wupwinuwauundui
45461 100|w juwnwipubp G- puad 1 18 413 120 18413 120
71241700 |nbjuthfulwt huljngnipmi Q< “pud 1 302 350 302 350
98111140|htinhbwlugh@ hulngnipymt uUu “pud 1 90 710 90 710
quon G dw quiquunwiph pipuwighl
45231118 |unpnguwi wpjuwnwpubip QX Fpud 1 1 176 284 1176284




GwjuwgowtwjuwhwyJuyht hwunupnpliph
71241200 |ququmd Uu Apud 1 94 139 94 139
71241700 |nbjuthjuywy huljnqnipymu ax pud 1 22 824 22 824
98111140|htinhLwluyht huljnnnipymu uu Qpud 1 6 852 6 852
whnugdwiwhiwhwyquyhb thwunwpenetph
punupuhiwjub wwpq thnpdwpbbinipub &
50531140wnuwynipynih Uu Apud ! 40 000 40 000
Ghlpkph b jwpnyghbph Ywuhww) Gnpngnid b wwhywined 29781 770
otinmgihul junnnyuilju wplinh wigyugdw
45331117|wp juunnwipllip 9< Tpud 1| 14469430 14 469 430
71241700/ nhjuthiuwlws hufnnnieymi q< Qpud 1 386 670 386 670
981 11140|htinhtiwljuyh@ hulnnmipymi U0 | 9pud 1 116 000 116 000
. EiEgnnwlwa tatipghwgh dwnwlupupdud
45311127 |{dwmuittiph wigljugnud Q< Tpund 1 14 495 600 14 495 600
71241700 wnbijubhiuljwy hujnnnipymu a< pwd 1 241 590 241 590
98111140|htinhuwljuyghy huljnnmyeyniu uu “pud 1 72 480 72 480
N2 HhLUELURLUYL UUShdLED 93 438 499
39141170[uuguubivywljh juihnyp q< | jpuljuqu 137 255 000 34 935 000
39141200|btippluuljitip oppnuitinhy /Matpac/ QX hun 137 28 300 3877 100
39141260| qqinnwwwhwpuwuulin Q< huin 1 130 000 130 000
39141260| qqiunuwyuhwpuutlip G hurn 1 100 000 100 000
39141260 qqlivtnwuwwhurpuilip G huin 1 122 000 122 000
39141260| qqiutnwuurhupuutlip - hun 2 114 500 229 000
39141260| qqiutnwuuthwputlip QX huin 1 118 000 118 000
39120000 | yuhupub B hurn 1 132 000 132 000
39141120 {wuhuwput Ajndnng / QX hurn 2 124 000 248 000
39120000 | uyuhuwpui [Jugpunut G hutn 1 190 000 190 000
gmgurthlinylip /wuul i gniguithting
39132170 ulinui / N < huwn 1 657510 657510
gmguuhlinylin (wuyull gniguithling
39132170{ulinui thnpp) R huin 2 339450 678 900
39121200 ulinuiubip pubqupmih I hunn 1 404 550 404 550
39141 120wjuhwpwi /wugull / Q< huin 1 741210 741 210
39141120 ujuthwpud /wuuilfl/ G hunn 8 356 250 2 850 000
39141120{wwhwpw( /ujw)n thnpp / Q< hurn 2 55 000 110 000
39141260|qqiumwywhwpuGibp upw)n B hwwn 1 59 000 59 000
39141270] yndnn < hun 2 105 000 210 000
39141270| yminy < hurn 1 65 000 65 000
39141270| yminy < huin 1 56 000 56 000
39141270| Yniny QX huwin 1 70 000 70 000
1Juwgupwuh vhinuy-nupuljwwph
39131200/ hun]upuont 9 huwin 1 67 330 67 330
39132210|ynquyht gupufupwplip S huin 7 49 857 349 000
39121100| gpurubinuiaulip thnpp Q< huin 6 47 000 282 000
39121200 w) jumnuwublinu qQ-X hurtn 1 300 000 300 000
39121360 ulinwy’ nijuduph hp ghiwnhpny huin 2 251 100 502 200
39121200| w2 juurnuwiulinui X hunn 2 82 500 165 000
39121200 | wp juwtnuubinu dipudw uliywih < hun 1 45 000 45 000
39121200 w juwnuwulinuiy G huitn 1 104 000 104 000
39121200 w juuntwubinut 3 hunn 1 125 000 125 000
39121200{ubiquit dnynyp Ulio < hun 1 325 000 325 000
39121200|ulinut dnymh thnpp QX huwn 1 162 000 162 000
39121200 utinuit Wb < huin 1 95 000 95 000
39121450[ulinuiy’ wipgniljh < huin 1 121 000 121 000
39141310|Gupwpwth ulinui” 4-nlinuuh X hurn 9 48 000 432 000
39111140|wpnrulip QX hurn 150 24 000 3 600 000
39111140/ wpnrulip < hurn 30 80 000 2 400 000
39111230| thnpp puiqungulip 2 nlinwung < huin 9 345 000 3105 000
39111230|pwqungulip wpjuunuuliuyulh Q- hun 2 233 000 466 000
39121400|jpugpuulinuii O huin 9 51500 463 500
31521470|gnigumnufutnual] UuU huwn 1 120 000 120 000




wihhpunpniiughl juwpubbtiph

45211238|jwnnigdwh wppuunwbipliip < npud 1 2 080 000 2 080 000
nlijnpuinpy poyutipn] nhquyith odwinuwl

79931300|0wnuynigymbulip Uy npud 1 900 000 900 000

33191230 pdp{uwiljurt futhnyp’ wuwhuwpui SR hutn 8 80 000 640 000
pupunwaught uuhupwutip

39132130|/wljunnuyh/ < hun 4 35 000 140 000

23191200 pdrluiljwy ulinuuulip /dipudwi/ B hun 2 60 000 120 000

33191180] pdyjuljuil purjuinlip’ nuwuyswi Q< hurn S 40 000 200 000

38621200| huymhalip /huwfupudny/ Uu hunn 60 5000 300 000

39141230|uun]wutlip nlighiny /HaMaTpacHUK/ Q< huin 150 9627 1 444 000

39516122|pwpd ax huin 150 3500 525 000

39511170|puipéh wupnujuiithy wpnnbjunp Q< hutn 150 1567 235 000
Jupfwyatp Afipful-owolng

39511100 hwdwulignuuht/ a< [nulugu 200 22 440 4 488 000
wilnnuuyht vwhnwlinbuh hunjopoon

39511120 Afiptwuwyud 1, vwuw 1, pupdh ipu 17| 9< huin 300 11 808 3 542 400

39514500 tpliuh upphsulip G hun 300 1 490 447 000

39514100( upphsulip, pupwiljjw punithph QX hun 300 2 490 747 000

44911500|w]uquipuip )85 Jud 36 10 850 390 600

44311130|dhinuwnuljwl guwuglip uu pu 700 620 434 000

14211117] dwupugud puiquijun UuU Jud 26 12 300 319 800

14211100|unjurq unghtuly UuU Jud 26 8400 218 400

12211100] unjuq Juignyn U Jud 26 8900 231 400

14211110 judwpuip uu Jud 26 8 600 223 600
wphbutnwlwt funwn / dhith pmnnuznp

39293300 | wphlivtnuljuy unnwswdynyp/ A pu 416 18 750 7 800 000
VwilyiptiutghY dwdlynypllip

44112450|Afupquinuiyurh plivthull dwdlynyp/ X pu 800 11 000 8 800 000

3) W) dhenglitiph huyhl Yunnwpyuitihp glnudbitiph nhiypnud”
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O:Juguéﬂgtﬂ wijwinuip (pupwquily ﬁq\;qu pwtiwly Uhwiynph ghl L qmlumnu?slluuﬁnn
nuuwlupgduwh wrqp
1 2 3 4 6 5 7
Cunuubip 1 660 000
Cughwbnip pinyph wy) dwnwjynipynihiikp 810 000
79000000|U.J] dumnuynipymuublip Q< Tpurd 1 810 000 810 000
Uwppuynpnifuliph phpwghy inpngnud b wwhwwinud 250 000
wungitwhwbing uwpplinh wwhwwadwy
50311250 |ownuympymutbp [8)185 Tpud 30 2 800 84 000
wunéhtwhwing uwppliph wuhywidwl
50311250|ownuynipymialip uu pud 5 7 000 35000
wynnutipitwitiph b hwpwlhg uwnppiph
Jtpwinpnguw b wwhuwidwi
50110000 |ownuynipjmuulip ULk Qpund 1 131 000 131 000
- 600 000
uu Jud 48 12 500 600 000
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